NCERT Solutions for Class 5 English Marigold Chapter 7: English is a language that unites
people all over the world and is a fascinating subject. Studying and practicing this subject is
essential. Therefore, students must begin studying the subject at the start of the academic year.
The answers have been meticulously produced by our subject matter specialists to assist
students in achieving high exam scores. These answers aid students in comprehending how to
effectively respond to the questions.

The thorough answers in NCERT Solutions for Class 5 English Marigold Chapter 7 immediately
dispel students' confusion. Students who practice their textbook questions every day tend to
score higher on tests.
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Overview

Topsy-turvy Land

This poem describes a place called Topsy-turvy Land, where people wear hats on their feet,
walk on their heads, send their kids to school at night, ride buses across the sea, and pay for
things they don't receive. Our highly experienced professors have meticulously prepared the
answers to provide students with the most standard answers.

With the aid of these solutions, students can better understand how to phrase their answers to
get good grades when they take their exams.

Gulliver’s Travels

The tale of Gulliver, a seaman stranded in the realm of giants, is told in this chapter. He related
how a farmer brought him to his home and set him up on a dining table that was thirty feet
above the floor. The farmer's kid snatched him up to consume.

He yelled so much that the farmer's son had to pick him up. If the farmer's wife hadn't supported
her apron beneath Gulliver, he would have suffered a broken neck. Students can gain a deeper
understanding of the subjects by using the answers developed by knowledgeable professors.
These answers aid students in gaining a thorough understanding of the major ideas discussed
in the chapter.
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Topsy-turvy Land

1. When do children go to school in Topsy-turvy Land?

Solution:

The children go to school at night in Topsy-turvy land.

2. In the poem, if buses travel on the sea, then where do the boats travel? How should it
rightly be?

Solution:
The boats travel on the streets of Topsy-turvy Land. They should travel on the sea.

3. The Topsy Turvy land is very different from our land. Let’s draw a comparison by filling
in sentences wherever needed.

Topsy-turvy Land Our land
(i) People walk on their heads. (i)
(i) (ii) The buses run on land.
(iii) They wear their hats on their feet. (iii)
(iv) (iv) Boats sail in the sea.
(v) People pay for what they don’t get. (v)
Solution:
Topsy-turvy Land Our land
(i) People walk on their heads. (i) People walk on their feet.
(ii) The buses run on the sea. (ii) The buses run on land.

(iii) They wear their hats on their feet. (iii) They wear their hats on their
heads.

(iv) Boats sail in the street. (iv) Boats sail in the sea.

(v) People pay for what they don’t get.  (v) People pay for what they get.



4. The words in the sentences are jumbled here. Rearrange them to make meaningful
sentences. Words that begin with a capital letter are the first word of the sentence.

(i) Renu Naughty is a girl.

(ii) untidy room Her always is.

(iii) Mother advises her clean to it.

(iv) never listens She is her mother too.

(v) kind of What child you are?

Solution:

(i) Renu is a naughty girl.

(i) Her room is always untidy.

(iii) Her mother advises her to clean it.

(iv) She never listens to her mother.

(v) What kind of a child are you?

5. 1. Write five things that you do at home to make your home look neat and clean.
(i)
(i)
(iii)
(iv)
(v)

Solution:

(i) I sweep the floor twice a day.

(ii) I mop every day.

(iii) I arrange the things in their suitable places to make the room tidy.
(iv) I clean the utensils in the kitchen immediately.

(v) I vacuum the entire house regularly to get rid of dust.



6. Two stories got mixed up. Sort them out and write them in the appropriate boxes.

We thought the lion had eaten someone.

Suddenly the kite lifted him off the ground and took him over the treetops.
We saw a shoe in the lion’s cage.

Finally, the kite brought him back to the park.

Our class had gone to the zoo.

Puran was flying the brand new kite in the park.

Some children stood and screamed, and some ran to the Director of the zoo.
Puran was frightened and excited.

The lion had not eaten anyone, because the shoe was one of the lion’s toys.

The Magic Kite

Who Did the Lion Eat?



Solution:
The Magic Kite

In the park, Puran was flying the brand-new kite. All of a sudden, the kite propelled him over the
treetops and off the earth. Puran felt both excited and scared. The kite finally returned him to the
park.

Who Did the Lion Eat?

There was a zoo visit with our class. In the lion's cage, we noticed a shoe. We believed
someone had been eaten by the lion. A few kids screamed while standing, while others rushed
towards the zoo's director. Since the shoe was one of the lion's toys, it had not eaten anyone.
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Gulliver’s Travels

1. Why did the captain send the men to the land?
Solution:
The captain sent the men to the land with vessels to look for water.

2. Why did the men rush back to the ship?



Solution:

The men were chased by a giant. Hence, they rushed back to the ship.
3. Choose the correct answer.

(i) The giant carried a reaping hook because

(a) he was fighting with the other giants.

(b) he was going to reap the corn.

(c) he wanted to frighten Guilliver.

(ii) They put Gulliver on the ground to look at him because
(a) they had never seen a human before.

(b) they thought he was a doll.

(c) they had never seen such a tiny man.

(iii) Gulliver was

(a) a farmer.

(b) a sailor.

(c) a dwarf.

(d) a giant.

Solution:

(i) (b) he was going to reap the corn.

(i) (c) they had never seen such a tiny man.

(iii) (b) a sailor.

4. Name the creature to whom you would look like Gulliver.
The creature is now extinct.

The word begins with the letter D

Solution:



The name of the creature is Dinosaur.
5. From the text, write the sentence that tells you the following.

(i) The giant reapers were fascinated by Gulliver.

(ii) Gulliver was a learned man.

(iii) The farmer’s son thought Gulliver was a toy.

(iv) The farmer’s wife was a kind-hearted woman.

Solution:

(i) They all sat on the ground to take a good look at me.

(i) I tried to speak to them loudly in several languages.

(iii) On seeing me, the child grabbed me from the table and put my head into his mouth.
(iv) Later, she put me on her bed and covered me with a clean white handkerchief.

6. Read the following sentences carefully.

The giant farmer’s voice was as loud as a bellowing trumpet.

or

The giant farmer’s voice was as loud as thunder. When something is very cold, we say it
is as cold as ice. This is because ice is very very cold.

Now complete the following. Use the words given in the box.

as as a feather
as as a tortoise
as as honey

as as snow




as as an ox

as as night
as as arose
as as a toast
as as a breeze

Solution:

as light as a feather
as slow as a tortoise
as sweet as honey
as white as snow

as strong as an ox
as dark as night

as red as a rose

as warm as a toast



as gentle as a breeze
7. Use the above expressions to complete the following sentences.

(i) The old man’s hair is as white

(ii) His feet were as cold

(iii) The newspaper boy was as slow in delivering the
papers.

(iv) I felt as light after exercising.

Solution:

(i) The old man’s hair is as white as snow.

(i) His feet were as cold as ice.

(iii) The newspaper boy was as slow as a tortoise in delivering the papers.
(iv) I felt as light as a feather after exercising

8. Create your comparisons for the following. Work in pairs

as tall as

as fast as

as high as

as angry as

as tiny as

as brave as

Solution:

as tall as the Qutub Minar

as fast as a Cheetah

as high as the Mount Everest
as angry as a bull

as tiny as an ant



as brave as a soldier

12. Now complete the following in the same way using the words easy or strong.

(i) Skipping is

Jumping is than skipping.
Walking is the of all.

(ii) The dog is

The horse is

The elephant is

Solution:

(i) Skipping is easy.

Jumping is easier than skipping.
Walking is the easiest of all.

(i) The dog is strong.

The horse is stronger than the dog.

The elephant is the strongest of them all.

Benefits of NCERT Solutions for Class 5 English Marigold
Chapter 7

e Concept Clarity: The solutions give students a better understanding of the concepts
presented in the chapter by offering concise explanations and insights.

e Precise Solutions: Students can depend on the solutions to determine precise
responses to the queries presented in the textbook, ensuring they understand the
subject matter.

e Enhanced Understanding: Students' comprehension of the text, topics, and literary
devices utilized in the chapter can be strengthened by carefully going over the solutions.

e Enhanced Performance: As students gain greater confidence in their capacity to
provide accurate answers, practicing with the solutions regularly might help them do
better on tests.



e Effective Preparation: By offering an organized method of learning, the solutions
function as a useful study tool that helps students get ready for examinations and exams
more quickly.



